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Assume a person works in a municipal incineration plant for 30 years. The PAH concentration
in the plant is 4500 ng/m’. He lives 10 km away from the incinerator. He rides the motorcycle
to the plant every day at a speed of 30 km/hr. The PAH emission for motorcycle is 100 ng/m”.
The PAH concentration in his home is about 1/100 of the plant. Please calculate this person
lifetime cancer risk? (Assumed this person lives in the same place for his whole life (70 years),
body weight is 70 kg, potency factor of PAH is 2.9 x 107 (mg/kg-day)™) (20 4 )
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